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a” x-morph=”OSHM:HTr” ”strong=”7592|����������� x-morph=”OSHM:HVqp2fs”
x-cantillationLevel=”0.0” strong=”m/5973|��/�����/�� b” x-morph=”OSHM:HR/R/Sp3ms”
x-cantillationLevel=”0”� 18 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”1.1” ”strong=”4672|��������� x-morph=”OSHM:HVqj3fs”
”strong=”8198|���/��������� x-morph=”OSHM:HNcfsc/Sp2ms” x-cantillationLevel=”1.0.0”
”strong=”2580|���� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
strong=”b/5869|��/�������/��� a” x-morph=”OSHM:HR/Ncbdc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”d/802|��������/�� x-morph=”OSHM:HTd/Ncfsa” ”strong=”l/1870|���/�������/��
x-morph=”OSHM:HR/Ncbsc/Sp3fs” x-cantillationLevel=”0.1.0” ”strong=”c/398|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.1” ”strong=”c/6440|��/������/��
x-morph=”OSHM:HC/Ncbpc/Sp3fs” ”strong=”3808|��� x-morph=”OSHM:HTn”������|strong=”1961”
x-morph=”OSHM:HVqp3cp”��/����|strong=”l” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”5750|����� x-morph=”OSHM:HD” x-
cantillationLevel=”0”� 19 ”strong=”c/7925|�������������/�� x-morph=”OSHM:HC/Vhw3mp”
”strong=”b/1242|�������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1.1”
”strong=”c/7812|����������������/�� x-morph=”OSHM:HC/Vtw3mp”
x-cantillationLevel=”1.1.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/7725|����������/�� x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.0.0”
”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”413|���
x-morph=”OSHM:HR”�/��������|strong=”1004 b” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”d/7414|�/�������/�� x-morph=”OSHM:HTd/Np/Sd”
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x-cantillationLevel=”1” ”strong=”c/3045|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”511|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”2584” x-morph=”OSHM:HNp”
”strong=”802|��/�������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1”
”strong=”c/2142|��/������������/�� x-morph=”OSHM:HC/Vqw3ms/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 20 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” ”strong=”l/8622|���������/�� x-morph=”OSHM:HR/Ncfpc”
”strong=”d/3117|��������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1”
”strong=”c/2029|�������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”2584|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”c/3205|�������/��
x-morph=”OSHM:HC/Vqw3fs” strong=”1121|����� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/7121|���������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”853|��� x-morph=”OSHM:HTo”���/�����|strong=”8034” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”8050|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”m/3068|�������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0” ”strong=”7592|�/������������
x-morph=”OSHM:HVqp1cs/Sp3ms” x-cantillationLevel=”0”� 21 ”strong=”c/5927|�������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0.0” ”strong=”d/376|������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”511|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”��/�������|strong=”1004
b” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” ”strong=”l/2076|��������/��
x-morph=”OSHM:HR/Vqc” ”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”2077”
x-morph=”OSHM:HNcmsc” ”strong=”d/3117|��������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��/�������|strong=”5088”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 22 ”strong=”c/2584|�������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.0” ”strong=”3808|���� x-
morph=”OSHM:HTn” ”strong=”5927|�������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”���������|strong=”559”
x-morph=”OSHM:HVqp3fs” ”strong=”l/376|��/�������/�� x-morph=”OSHM:HR/Ncmsc/Sp3fs”
x-cantillationLevel=”0.1.3” ”strong=”5704|���� x-morph=”OSHM:HR” ”strong=”1580|���������
x-morph=”OSHM:HVNi3ms” ”strong=”d/5288|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.2” ”strong=”c/935|�/����������/�� x-morph=”OSHM:HC/Vhq1cs/Sp3ms”
x-cantillationLevel=”0.1.1” ”strong=”c/7200|��������/�� x-morph=”OSHM:HC/VNq3ms”
x-cantillationLevel=”0.1.0” ”strong=”854|��� x-morph=”OSHM:HR”��������|strong=”6440”
x-morph=”OSHM:HNcbpc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/3427|�������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”8033|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”5704|���
x-morph=”OSHM:HR”��������|strong=”5769” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 23 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp3fs” ”strong=”511|����������
x-morph=”OSHM:HNp” ”strong=”376|��/������� x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”1.1.1.0” strong=”6213|������� a” x-morph=”OSHM:HVqv2fs”
strong=”d/2896|������/�� a” x-morph=”OSHM:HTd/Aamsa” strong=”b/5869|��/��������/���
a” x-morph=”OSHM:HR/Ncbdc/Sp2fs” x-cantillationLevel=”1.1.1” ”strong=”3427|�������
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x-morph=”OSHM:HVqv2fs” x-cantillationLevel=”1.1.0” ”strong=”5704|���
x-morph=”OSHM:HR”��/���������|strong=”1580” x-morph=”OSHM:HVqc/Sp2fs”
”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.1”
”strong=”389|����� x-morph=”OSHM:HTa” x-cantillationLevel=”1.0.0” strong=”6965|������
b” x-morph=”OSHM:HVhj3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��/��������|strong=”1697”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/3427|��������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”d/802|��������/��� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1.0” ”strong=”c/3243|��������/�� x-morph=”OSHM:HC/Vhw3fs”
”strong=”853|��� x-morph=”OSHM:HTo”��/�������|strong=”1121 a”
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0.1” ”strong=”5704|���
x-morph=”OSHM:HR”��/���������|strong=”1580” x-morph=”OSHM:HVqc/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”0”� 24 ”strong=”c/5927|���/��������/�� x-morph=”OSHM:HC/Vhw3fs/Sp3ms”
strong=”5973|��/������ a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.1.2.0”
strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr” ”strong=”1580|��/����������
x-morph=”OSHM:HVqp3fs/Sp3ms” x-cantillationLevel=”1.1.2” ”strong=”b/6499|�������/���
x-morph=”OSHM:HR/Ncmpa” ”strong=”7969|���������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.1.1” ”strong=”c/374|�������/�� x-morph=”OSHM:HC/Ncfsa”
”strong=”259|������ x-morph=”OSHM:HAcfsa” ”strong=”7058|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0” strong=”c/5035|������/��
a” x-morph=”OSHM:HC/Ncmsc” ”strong=”3196|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”c/935|���/��������/�� x-morph=”OSHM:HC/Vhw3fs/Sp3ms”
strong=”1004|���� b” x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”7887|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/d/5288|�������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”0.0” ”strong=”5288|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 25 strong=”c/7819|������������/���
a” x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�����/���|strong=”d/6499” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/935|����������/�� x-morph=”OSHM:HC/Vhw3mp”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/5288”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”413|���
x-morph=”OSHM:HR”�������|strong=”5941” x-morph=”OSHM:HNp” x-
cantillationLevel=”0”� 26 ”strong=”c/559|���������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”1.1.0” ”strong=”994|����� x-morph=”OSHM:HTe” ”strong=”113|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.1” strong=”2416|����
a” x-morph=”OSHM:HAamsa” ”strong=”5315|���/������� x-morph=”OSHM:HNcbsc/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”113|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” ”strong=”589|������ x-morph=”OSHM:HPp1cs”
”strong=”d/802|��������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1.1”
”strong=”d/5324|����������/�� x-morph=”OSHM:HTd/VNrfsa” strong=”5973|����/�����
a” x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.1.0” ”strong=”b/2088|����/���
x-morph=”OSHM:HR/Pdxms” x-cantillationLevel=”0.1” ”strong=”l/6419|������������/��
x-morph=”OSHM:HR/Vtc” x-cantillationLevel=”0.0” ”strong=”413|��� x-
morph=”OSHM:HR”��������|strong=”3068” x-morph=”OSHM:HNp” x-
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cantillationLevel=”0”� 27 ”strong=”413|��� x-morph=”OSHM:HR”�������/���|strong=”d/5288”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”1.0” ”strong=”6419|����������������� x-morph=”OSHM:HVtp1cs”
x-cantillationLevel=”1” ”strong=”c/5414|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/������������|strong=”7596”
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”7592|������������ x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.0” strong=”m/5973|��/�����/�� b” x-morph=”OSHM:HR/R/Sp3ms”
x-cantillationLevel=”0”� 28 ”strong=”c/1571|����/�� x-morph=”OSHM:HC/Ta”
”strong=”595|�������� x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.2.1”
”strong=”7592|����/������������� x-morph=”OSHM:HVhp1cs/Sp3ms”
x-cantillationLevel=”1.2.0” ”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.2” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������/���|strong=”d/3117”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”1961|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.1” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
”strong=”7592|�������� x-morph=”OSHM:HVqsmsa” x-cantillationLevel=”1.0”
”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”c/7812|�������������/�� x-morph=”OSHM:HC/Vtw3ms” ”strong=”8033|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”l/3068|������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� �2 ”strong=”c/6419|�������������/�� x-morph=”OSHM:HC/Vtw3fs”

”strong=”2584|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.2”

”strong=”5970|������ x-morph=”OSHM:HVqp3ms” strong=”3820|��/�����
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.1.0” ”strong=”b/3068|������/����
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1” strong=”7311|������
a” x-morph=”OSHM:HVqp3fs” strong=”7161|�/������� a” x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”b/3068|������/���� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” ”strong=”7337|������ x-morph=”OSHM:HVqp3ms”
”strong=”6310|��/��� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”�/����������|strong=”341”
x-morph=”OSHM:HVqrmpc/Sp1cs” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”8055|������������ x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.0” ”strong=”b/3444|��/����������/��� x-morph=”OSHM:HR/Ncfsc/Sp2ms”
x-cantillationLevel=”0”� 2 ”strong=”369|���� x-morph=”OSHM:HTn”���������|strong=”6918”
x-morph=”OSHM:HAamsa” ”strong=”k/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”1115|��/��������� x-morph=”OSHM:HC/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn”
”strong=”6697|����� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”k/430|���/�������/��� x-morph=”OSHM:HR/Ncmpc/Sp1cp”
x-cantillationLevel=”0”� 3 ”strong=”408|��� x-morph=”OSHM:HTn”�����������|strong=”7235
a” x-morph=”OSHM:HVhj2mp” ”strong=”1696|����������� x-morph=”OSHM:HVpj2mp”
x-cantillationLevel=”1.1.0” ”strong=”1364|��������� x-morph=”OSHM:HAafsa”
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”strong=”1364|�������� x-morph=”OSHM:HAafsa” x-cantillationLevel=”1.1”
”strong=”3318|������ x-morph=”OSHM:HVqi3ms” ”strong=”6277|������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0” ”strong=”m/6310|����/����/��
x-morph=”OSHM:HR/Ncmsc/Sp2mp” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”410|���� x-morph=”OSHM:HNcmsc” ”strong=”1844|��������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.1.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”c/3808|��/� x-
morph=”OSHM:HC/Tn” x-wType=”x-ketiv” 1 ”strong=”8505|�����������
x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”0.0” ”strong=”5949|���������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0”� 4 ”strong=”7198|�������
x-morph=”OSHM:HNcfsc” ”strong=”1368|����������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”1.0” strong=”2844|�������� b” x-morph=”OSHM:HAampa”
x-cantillationLevel=”1” ”strong=”c/3782|������������/�� x-morph=”OSHM:HC/VNrmpa”
x-cantillationLevel=”0.0” ”strong=”247|�������� x-morph=”OSHM:HVqp3cp”
”strong=”2428|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
5 ”strong=”7649|���������� x-morph=”OSHM:HAampa” ”strong=”b/3899|��������/���
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.1.0” strong=”7936|������������
b” x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”1.1” ”strong=”c/7457|���������/��
x-morph=”OSHM:HC/Aampa” x-cantillationLevel=”1.0” ”strong=”2308|���������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1” ”strong=”5704|��� x-
morph=”OSHM:HR”���������|strong=”6135” x-morph=”OSHM:HAafsa”
x-cantillationLevel=”0.1.0” ”strong=”3205|�������� x-morph=”OSHM:HVqp3fs”
”strong=”7651|��������� x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.1”
strong=”c/7227|�������/�� a” x-morph=”OSHM:HC/Aafsc” strong=”1121|��������
a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0” ”strong=”535|����������
x-morph=”OSHM:HVKp3fs” x-cantillationLevel=”0”� 6 ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”4191|�������
x-morph=”OSHM:HVhrmsa” ”strong=”c/2421|���������/�� x-morph=”OSHM:HC/Vprmsa”
x-cantillationLevel=”1” ”strong=”3381|�������� x-morph=”OSHM:HVhrmsa”
”strong=”7585|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”c/5927|�������/�� x-morph=”OSHM:HC/Vhw3ms” x-cantillationLevel=”0”�
7 ”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”3423|��������� x-morph=”OSHM:HVhrmsa” ”strong=”c/6238|����������/��
x-morph=”OSHM:HC/Vhrmsa” x-cantillationLevel=”1” ”strong=”8213|�����������
x-morph=”OSHM:HVhrmsa” x-cantillationLevel=”0.0” ”strong=”637|��� x-
morph=”OSHM:HTa”����������|strong=”7311 a” x-morph=”OSHM:HVormsa”
x-cantillationLevel=”0”� 8 strong=”6965|������� b” x-morph=”OSHM:HVhrmsa”
”strong=”m/6083|������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.2.1.0”
”strong=”1800|����� x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.2.1”
”strong=”m/830|����������/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.2.0”
strong=”7311|������� a” x-morph=”OSHM:HVhi3ms” ”strong=”34|���������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.2” ”strong=”l/3427|���������/��
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x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 10 ”strong=”3068|�������
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a” x-morph=”OSHM:HNcmpc”�������|strong=”776” x-morph=”OSHM:HNcbsa”
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x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/3068|������/���
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x-morph=”OSHM:HNcmsc”������������|strong=”3478” x-morph=”OSHM:HNp”
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x-morph=”OSHM:HNcmsc/Sp2mp” x-cantillationLevel=”1.1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”3513|���������� x-morph=”OSHM:HVpp3cp”
x-cantillationLevel=”1.0.0” ”strong=”4713|���������� x-morph=”OSHM:HNp”
”strong=”c/6547|��������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”3820 a” x-
morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1” ”strong=”i/3808|�����/��
x-morph=”OSHM:HTi/Tn” x-cantillationLevel=”0.1.0” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” strong=”5953|����������� a” x-morph=”OSHM:HVtp3ms”
”strong=”b|����/��� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.1”
”strong=”c/7971|�/������������/��� x-morph=”OSHM:HC/Vpw3mp/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”c/3212|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0”� 7 ”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D”
x-cantillationLevel=”1.2.1” ”strong=”3947|������ x-morph=”OSHM:HVqv2mp”
strong=”c/6213|�������/�� a” x-morph=”OSHM:HC/Vqv2mp” x-cantillationLevel=”1.2.0.0”
”strong=”5699|�������� x-morph=”OSHM:HNcfsa” ”strong=”2319|���������
x-morph=”OSHM:HAafsa” x-cantillationLevel=”1.2.0” ”strong=”259|������
x-morph=”OSHM:HAcfsa” x-cantillationLevel=”1.2” ”strong=”c/8147|��������/��
x-morph=”OSHM:HC/Acfdc” ”strong=”6510|������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1.1.0” ”strong=”5763|������� x-morph=”OSHM:HVqrfpa”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”1.0.0” ”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”5927”
x-morph=”OSHM:HVqp3ms” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”5923|���� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/631|�����������/�� x-morph=”OSHM:HC/Vqq2mp”
”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/6510”
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”0.1.0” ”strong=”b/5699|��������/���
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.1” ”strong=”c/7725|������������/��
x-morph=”OSHM:HC/Vhq2mp” strong=”1121|����/������ a” x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0.0.0” strong=”m/310|����/�������/�� a” x-morph=”OSHM:HR/R/Sp3mp”
x-cantillationLevel=”0.0” strong=”d/1004|�/��������/�� b” x-morph=”OSHM:HTd/Ncmsa/Sd”
x-cantillationLevel=”0”� 8 ”strong=”c/3947|�����������/�� x-morph=”OSHM:HC/Vqq2mp”
x-cantillationLevel=”1.2.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”727”
x-morph=”OSHM:HNcbsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1” ”strong=”c/5414|���������/�� x-morph=”OSHM:HC/Vqq2mp”
”strong=”853|���/��� x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.2.0”
”strong=”413|��� x-morph=”OSHM:HR”��������/����|strong=”d/5699”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.2” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” x-cantillationLevel=”1.1.1.0” � ”strong=”3627|�������
x-morph=”OSHM:HNcmpc” ”strong=”d/2091|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”7725|����������� x-morph=”OSHM:HVhp2mp” ”strong=”l|���/�
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”817|�������



CONTENTS 41

x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” strong=”7760|�����������
a” x-morph=”OSHM:HVqi2mp” ”strong=”b/712|���������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”m/6654|��/������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/7971|�������������/�� x-morph=”OSHM:HC/Vpq2mp”
”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”0.0”
”strong=”c/1980|�������/�� x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0”�
9 ”strong=”c/7200|���������/�� x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”1.2.1”
strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”1870” x-
morph=”OSHM:HNcbsc” ”strong=”1366|��/�������� x-morph=”OSHM:HNcmsc/Sp3ms”
”strong=”5927|��������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.2.0”
”+strong=”1053|������ x-morph=”OSHM:HNp” ”strong=”1053|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”1931|����� x-
morph=”OSHM:HPp3ms” x-cantillationLevel=”1.1.0” strong=”6213|�������
a” x-morph=”OSHM:HVqp3ms” ”strong=”l|���/��� x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”1.1” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/7451
c” x-morph=”OSHM:HTd/Ncfsa” strong=”d/1419|����������/�� a” x-
morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1.0” ”strong=”d/2063|������/��
x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1” strong=”c/518|���/��
a” x-morph=”OSHM:HC/C”�����|strong=”3808” x-morph=”OSHM:HTn”
x-cantillationLevel=”0.1.2” ”strong=”c/3045|�����������/�� x-morph=”OSHM:HC/Vqq1cp”
x-cantillationLevel=”0.1.1” strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3027|���/��� x-
morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”5060|��������
x-morph=”OSHM:HVqp3fs” ”strong=”b|���/���� x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0.1” ”strong=”4745|�������� x-morph=”OSHM:HNcmsa”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0.0”
”strong=”1961|������ x-morph=”OSHM:HVqp3ms” ”strong=”l|���/���
x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0”� 10 strong=”c/6213|����������/��
a” x-morph=”OSHM:HC/Vqw3mp” ”strong=”d/376|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2.0” strong=”3651|����� c” x-morph=”OSHM:HTm”
x-cantillationLevel=”1.2” ”strong=”c/3947|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.1.1” ”strong=”8147|�������� x-morph=”OSHM:HAcfdc”
”strong=”6510|������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.1.0”
”strong=”5763|������� x-morph=”OSHM:HVqrfpa” x-cantillationLevel=”1.1”
”strong=”c/631|�/�����������/�� x-morph=”OSHM:HC/Vqw3mp/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”b/5699|��������/��� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����/�������|strong=”1121
a” x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0.0” ”strong=”3607|�������
x-morph=”OSHM:HVqp3cp” strong=”b/1004|�������/�� b” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0”� 11 strong=”c/7760|����������/�� a” x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”727”
x-morph=”OSHM:HNcbsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/5699”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” ”strong=”d/712|���������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.1” ”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
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x-cantillationLevel=”0.1.0” ”strong=”5909|����������� x-morph=”OSHM:HNcmpc”
”strong=”d/2091|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”c/853|����/�� x-morph=”OSHM:HC/To” x-cantillationLevel=”0.0”
”strong=”6754|�������� x-morph=”OSHM:HNcmpc” ”strong=”2914|����/�������
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0”� 12 ”strong=”c/3474|������������/��
x-morph=”OSHM:HC/Vqw3fp” 18 BHS has been faithful to the Leningrad
Codex where there might be a question of the validity of the form and we keep
the same form as BHS. ”strong=”d/6510|��������/�� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”1.2.1.0” ”strong=”b/1870|��������/��� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”1.2.1” strong=”5921|��� a” x-morph=”OSHM:HR”����������|strong=”1870”
x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.2.0” ”+strong=”1053|������
x-morph=”OSHM:HNp” ”strong=”1053|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”b/4546|���������/��� x-morph=”OSHM:HR/Ncfsa”
”strong=”259|������ x-morph=”OSHM:HAcfsa” x-cantillationLevel=”1.1.1”
”strong=”1980|�������� x-morph=”OSHM:HVqp3cp” ”strong=”1980|�������
x-morph=”OSHM:HVqa” x-cantillationLevel=”1.1.0” ”strong=”c/1600|������/��
x-morph=”OSHM:HC/Vqa” x-cantillationLevel=”1.1” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”�������|strong=”5493” x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.0” ”strong=”3225|������� x-morph=”OSHM:HNcfsa”
”strong=”c/8040|���������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1”
strong=”c/5633|��������/�� a” x-morph=”OSHM:HC/Ncmpc” ”strong=”6430|�������������
x-morph=”OSHM:HNgmpa” x-cantillationLevel=”0.1.0” ”strong=”1980|���������
x-morph=”OSHM:HVqrmpa” strong=”310|����/������� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”5704|��� x-morph=”OSHM:HR”���������|strong=”1366”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0” ”+strong=”1053|������
x-morph=”OSHM:HNp” ”strong=”1053|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 13 ”+strong=”c/1053|�����/�� x-morph=”OSHM:HC/Np”
”strong=”1053|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”7114|��������� b” x-morph=”OSHM:HVqrmpa” strong=”7105|������
a” x-morph=”OSHM:HNcmsc”���������|strong=”2406” x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1.0” ”strong=”b/6010|������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/5375|����������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”853|��� x-morph=”OSHM:HTo”����/�������|strong=”5869
a” x-morph=”OSHM:HNcbdc/Sp3mp” x-cantillationLevel=”0.1.1” ”strong=”c/7200|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������/����|strong=”d/727” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”c/8055|������������/��� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” ”strong=”l/7200|�������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 14 ”strong=”c/d/5699|��������/��/�� x-morph=”OSHM:HC/Td/Ncfsa”
x-cantillationLevel=”1.1.0.1” ”strong=”935|������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”1.1.0.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”7704
b” x-morph=”OSHM:HNcmsc” ”strong=”3091|����������� x-morph=”OSHM:HNp”
”+strong=”1030|������ x-morph=”OSHM:HNgmsa”��������������|strong=”1030”
x-morph=”OSHM:HNgmsa” x-cantillationLevel=”1.1.0” ”strong=”c/5975|���������/��
181
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x-morph=”OSHM:HC/Vqw3fs” ”strong=”8033|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1.1” ”strong=”c/8033|�����/�� x-morph=”OSHM:HC/D”
x-cantillationLevel=”1.0” ”strong=”68|������ x-morph=”OSHM:HNcfsa”
strong=”1419|���������� a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”1”
”strong=”c/1234|�����������/��� x-morph=”OSHM:HC/Vpw3mp” x-
cantillationLevel=”0.2.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”6086”
x-morph=”OSHM:HNcmpc” ”strong=”d/5699|��������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.2” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��������/����|strong=”d/6510”
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”0.1” ”strong=”5927|��������
x-morph=”OSHM:HVhp3cp” strong=”5930|������ a” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”� � 15 ”strong=”c/d/3881|���������/��/�� x-
morph=”OSHM:HC/Td/Ngmpa” x-cantillationLevel=”1.1.1.1” ”strong=”3381|����������
x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”1.1.1.0” � ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”727” x-morph=”OSHM:HNcbsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”���������/���|strong=”d/712”
x-morph=”OSHM:HTd/Ncmsa” strong=”834|������ a” x-morph=”OSHM:HTr”���/�����|strong=”854”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.0” strong=”834|������
a” x-morph=”OSHM:HTr”��/����|strong=”b” x-morph=”OSHM:HR/Sp3ms”
”strong=”3627|������ x-morph=”OSHM:HNcmpc”�������|strong=”2091”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” strong=”c/7760|����������/��
a” x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.0” ”strong=”413|���
x-morph=”OSHM:HR”������/���|strong=”d/68” x-morph=”OSHM:HTd/Ncfsa”
strong=”d/1419|����������/�� a” x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1”
”strong=”c/376|���������/�� x-morph=”OSHM:HC/Ncmpc” ”+strong=”1053|�����
x-morph=”OSHM:HNp”���������|strong=”1053” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.1” ”strong=”5927|�������� x-morph=”OSHM:HVhp3cp”
strong=”5930|������� a” x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.0.0.0”
”strong=”c/2076|������������/��� x-morph=”OSHM:HC/Vqw3mp” ”strong=”2077|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0.0” ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms”
x-cantillationLevel=”0.0” ”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”� 16 ”strong=”c/2568|����������/�� x-morph=”OSHM:HC/Acmsa”
strong=”5633|�������� a” x-morph=”OSHM:HNcmpc”��������������|strong=”6430”
x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1.0” ”strong=”7200|������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1” ”strong=”c/7725|����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”6138|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”0”�
� 17 ”strong=”c/428|��������/�� x-morph=”OSHM:HC/Pdxcp” x-cantillationLevel=”1.1.0”
”strong=”2914|�������� x-morph=”OSHM:HNcmpc” ”strong=”d/2091|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”7725|���������� x-morph=”OSHM:HVhp3cp”
”strong=”6430|������������� x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1.0.0”
”strong=”817|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
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”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”l/795|�����������/�� x-morph=”OSHM:HR/Np” ”strong=”259|������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.1.0.0” 19 We read one or
more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS. ”strong=”l/5804|�������/�� x-morph=”OSHM:HR/Np”
”strong=”259|������ x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.1.0”
”strong=”l/831|������������/�� x-morph=”OSHM:HR/Np” ”strong=”259|������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.1” ”strong=”l/1661|����/��
x-morph=”OSHM:HR/Np” ”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0.0” ”strong=”l/6138|���������/�� x-morph=”OSHM:HR/Np”
”strong=”259|������ x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0”�
� 18 ”strong=”c/5909|�����������/�� x-morph=”OSHM:HC/Ncmpc”
”strong=”d/2091|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1”
”strong=”4557|��������� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.2.0.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������|strong=”5892
b” x-morph=”OSHM:HNcfpc” ”strong=”6430|������������� x-morph=”OSHM:HNgmpa”
x-cantillationLevel=”1.2.0” ”strong=”l/2568|���������/�� x-morph=”OSHM:HRd/Acmsc”
strong=”d/5633|����������/�� a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2”
strong=”m/5892|�����/�� b” x-morph=”OSHM:HR/Ncfsc” ”strong=”4013|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”c/5704|����/��
x-morph=”OSHM:HC/R” x-cantillationLevel=”1.0” strong=”3724|�������
d” x-morph=”OSHM:HNcmsc” ”strong=”d/6521|���������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/5704|����/�� x-morph=”OSHM:HC/R”
x-cantillationLevel=”0.2.2.0” � ”strong=”59|������ x-morph=”OSHM:HNp”
strong=”d/1419|����������/�� a” x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”0.2.2”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3240|����������
x-morph=”OSHM:HVhp3cp” strong=”5921|���/������ a” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.2.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-
cantillationLevel=”0.2.0” ”strong=”727|������� x-morph=”OSHM:HNcbsc”
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x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”c/5414|������/��
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x-morph=”OSHM:HVqrmsa” ”strong=”c/7131|������/�� x-morph=”OSHM:HC/Aamsa”
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x-cantillationLevel=”0.0” strong=”5973|��� a” x-morph=”OSHM:HR”�������|strong=”3303”
x-morph=”OSHM:HAamsc” ”strong=”4758|�������� x-morph=”OSHM:HNcmsa”
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x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”b/5414|���/�����/���
x-morph=”OSHM:HR/Vqc/Sp2ms” 79 We read one or more accents in L dif-
ferently than BHS. Often this notation indicates a typographical error in BHS.
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.1.0”
”strong=”3899|������ x-morph=”OSHM:HNcbsa” ”strong=”c/2719|������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.1.1” ”strong=”c/7592|��������/��
x-morph=”OSHM:HC/Vqa” ”strong=”l|���/� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”b/430|��������/���� x-morph=”OSHM:HR/Ncmpa”
x-cantillationLevel=”0.1” strong=”l/6965|�����/�� b” x-morph=”OSHM:HR/Vqc”
”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0.0”
”strong=”l/693|������/�� x-morph=”OSHM:HR/Vqrmsa” x-cantillationLevel=”0.0”
”strong=”k/3117|������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”� � 14 strong=”c/6030|�������/��
b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”288|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1” ”strong=”c/4310|����/��
x-morph=”OSHM:HC/Ti” ”strong=”b/3605|���/�� x-morph=”OSHM:HR/Ncmsc”���/���������|strong=”5650”
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”0.1.0” ”strong=”k/1732|������/���
x-morph=”OSHM:HR/Np” ”strong=”539|�������� x-morph=”OSHM:HVNrmsa”
x-cantillationLevel=”0.1” ”strong=”c/2860|������/�� x-morph=”OSHM:HC/Ncmsc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0”
”strong=”c/5493|����/�� x-morph=”OSHM:HC/Vqrmsa” ”strong=”413|���
x-morph=”OSHM:HR”��/��������������|strong=”4928” x-morph=”OSHM:HNcfsc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”c/3513|���������/�� x-morph=”OSHM:HC/VNrmsa”
strong=”b/1004|��/������/��� b” x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”0”� 15 ”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa”
strong=”2490|����������� c” x-morph=”OSHM:HVhp1cs” x-cantillationLevel=”1.0.0”
”strong=”l/7592|����/� x-morph=”OSHM:HR/Vqc” x-wType=”x-ketiv” 80
”strong=”l/7592|��/��� x-morph=”OSHM:HR/Sp3ms” ”strong=”b/430|��������/��
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1.0” ”strong=”2486|�/��������
78+ ”strong=”413|��/������/�� x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1.2.0”
79c
80+ ”strong=”l/7592|������/������/� x-morph=”OSHM:HR/Vqc”
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x-morph=”OSHM:HTj/Sh” ”strong=”l|�/���� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” ”strong=”408|��� x-morph=”OSHM:HTn”��������|strong=”7760
a” x-morph=”OSHM:HVqj3ms” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”b/5650|��/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
”strong=”1697|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.2.0”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”1|�/����� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.2” strong=”3588|����� a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.1.0.0” ”strong=”3808|���� x-morph=”OSHM:HTn”�������|strong=”3045”
x-morph=”OSHM:HVqp3ms” ”strong=”5650|���/������� x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0.1.0” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”������|strong=”2063”
x-morph=”OSHM:HPdxfs” x-cantillationLevel=”0.1” ”strong=”1697|�������
x-morph=”OSHM:HNcmsa” strong=”6996|������ b” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.0” strong=”176|���� a” x-morph=”OSHM:HC” strong=”1419|�������
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”0”� 16 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”4191|����� x-morph=”OSHM:HVqa” ”strong=”4191|��������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1.0” ”strong=”288|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”859|������� a”
x-morph=”OSHM:HPp2ms” x-cantillationLevel=”0.0” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”�������|strong=”1004 b” x-morph=”OSHM:HNcmsc”
”strong=”1|��/������ x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0”�
17 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1.2” ”strong=”l/7323|�������/��
x-morph=”OSHM:HRd/Vqrmpa” ”strong=”d/5324|�����������/�� x-morph=”OSHM:HTd/VNrmpa”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.2.1.1”
”strong=”5437|������� x-morph=”OSHM:HVqv2mp” ”strong=”c/4191|���������/��
x-morph=”OSHM:HC/Vhv2mp” x-cantillationLevel=”1.2.1.0” � ”strong=”3548|���������
x-morph=”OSHM:HNcmpc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1” strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”1571|��� x-morph=”OSHM:HD”��/�����|strong=”3027” x-morph=”OSHM:HNcbsc/Sp3mp”
x-cantillationLevel=”1.2.0” strong=”5973|��� a” x-morph=”OSHM:HR”��������|strong=”1732”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” strong=”c/3588|����/��
a” x-morph=”OSHM:HC/C” ”strong=”3045|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.1.0” strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”1272”
x-morph=”OSHM:HVqrmsa” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”1.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”1540|������ x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�/����|strong=”241” x-morph=”OSHM:HNcfsc/Sp3ms”
x-wType=”x-ketiv” 81 ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”�������|strong=”14”
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.1.0.0” ”strong=”5650|��������
x-morph=”OSHM:HNcmpc” ”strong=”d/4428|���������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”l/7971|��������/�� x-morph=”OSHM:HR/Vqc”

81+ ”strong=”241|�/��������/��� x-morph=”OSHM:HNcfsc/Sp1cs” x-
cantillationLevel=”1”
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”strong=”853|��� x-morph=”OSHM:HTo”�/������|strong=”3027” x-morph=”OSHM:HNcbsc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”l/6293|�������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.0” ”strong=”b/3548|��������/��� x-morph=”OSHM:HR/Ncmpc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 18 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4428|���������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0” ”strong=”l/1673|����/�
x-morph=”OSHM:HR/Np” x-wType=”x-ketiv” 82 ”strong=”5437|���� x-
morph=”OSHM:HVqv2ms” strong=”859|������� a” x-morph=”OSHM:HPp2ms”
x-cantillationLevel=”1.1” ”strong=”c/6293|������/�� x-morph=”OSHM:HC/Vqv2ms”
x-cantillationLevel=”1.0” ”strong=”b/3548|����������/��� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”1” ”strong=”c/5437|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.2.1.0” ”strong=”1673|���� x-morph=”OSHM:HNp”
x-wType=”x-ketiv” 83 ”strong=”d/130|��������/�� x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”0.2.1” ”strong=”c/6293|���������/�� x-morph=”OSHM:HC/Vqw3ms”������|strong=”1931”
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0.2.0” ”strong=”b/3548|�����������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.2” ”strong=”c/4191|�������/��
x-morph=”OSHM:HC/Vhw3ms” x-cantillationLevel=”0.1.1.0” � ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms”
x-cantillationLevel=”0.1.1” ”strong=”8084|���������� x-morph=”OSHM:HAcbpa”
”strong=”c/2568|����������/�� x-morph=”OSHM:HC/Acmsa” x-cantillationLevel=”0.1.0”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”5375|������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.0”
”strong=”646|������� x-morph=”OSHM:HNcmsc” ”strong=”906|�����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 19 ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” ”strong=”5011|���� x-morph=”OSHM:HNp” strong=”5892|����
b” x-morph=”OSHM:HNcfsc”�����������/���|strong=”d/3548” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2.0” ”strong=”5221|������� x-morph=”OSHM:HVhp3ms”
”strong=”l/6310|���/�� x-morph=”OSHM:HR/Ncmsc”�������|strong=”2719”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.2” ”strong=”m/376|������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”c/5704|���/��
x-morph=”OSHM:HC/R”���������|strong=”802” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1” ”strong=”m/5768|�������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”��������|strong=”3243”
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1” ”strong=”c/7794|������/��
x-morph=”OSHM:HC/Ncmsa” ”strong=”c/2543|�������/�� x-morph=”OSHM:HC/Ncbsa”
x-cantillationLevel=”0.0.0” ”strong=”c/7716|�����/�� x-morph=”OSHM:HC/Ncbsa”
x-cantillationLevel=”0.0” ”strong=”l/6310|���/�� x-morph=”OSHM:HR/Ncmsc”�������|strong=”2719”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 20 ”strong=”c/4422|����������/��
x-morph=”OSHM:HC/VNw3ms” strong=”1121|���� a” x-morph=”OSHM:HNcmsa”�������|strong=”259”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.1.1” ”strong=”l/288|�������������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.0” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”����������|strong=”285” x-morph=”OSHM:HNp”

82+ ”strong=”l/1673|�������/������/� x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1.2”
83+ ”strong=”1673|������������ x-morph=”OSHM:HNp”
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x-cantillationLevel=”1.1” ”strong=”c/8034|��/�����/�� x-morph=”OSHM:HC/Ncmsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”54|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/1272|���������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0” strong=”310|�������� a” x-morph=”OSHM:HR”
”strong=”1732|������ x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
21 ”strong=”c/5046|��������/�� x-morph=”OSHM:HC/Vhw3ms” ”strong=”54|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”l/1732|������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” strong=”3588|����� a”
x-morph=”OSHM:HC” x-cantillationLevel=”0.1.0” ”strong=”2026|������
x-morph=”OSHM:HVqp3ms” ”strong=”7586|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”0.0”
”strong=”3548|��������� x-morph=”OSHM:HNcmpc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 22 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.2.0” ”strong=”l/54|����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.2” ”strong=”3045|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.1.1.0” ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.1.1”
strong=”3588|����� a” x-morph=”OSHM:HC”������|strong=”8033” x-
morph=”OSHM:HD” x-cantillationLevel=”1.1.0” ”strong=”1673|���� x-morph=”OSHM:HNp”
x-wType=”x-ketiv” 84 ”strong=”d/130|��������/�� x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”5046”
x-morph=”OSHM:HVha” ”strong=”5046|�������� x-morph=”OSHM:HVhi3ms”
x-cantillationLevel=”1.0” ”strong=”l/7586|��������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” ”strong=”595|�������� x-morph=”OSHM:HPp1cs”
”strong=”5437|��������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.1”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”��������|strong=”5315”
x-morph=”OSHM:HNcbsc” x-cantillationLevel=”0.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc” ”strong=”1|��/������ x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0”� 23 ”strong=”3427|�/������ x-morph=”OSHM:HVqv2ms/Sh”
”strong=”854|��/����� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.0”
”strong=”408|��� x-morph=”OSHM:HTn”���������|strong=”3372” x-
morph=”OSHM:HVqj2ms” x-cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”�����������|strong=”1245” x-morph=”OSHM:HVpi3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�/���������|strong=”5315”
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”1.0” ”strong=”1245|����������
x-morph=”OSHM:HVpi3ms” ”strong=”853|��� x-morph=”OSHM:HTo”��/���������|strong=”5315”
x-morph=”OSHM:HNcbsc/Sp2ms” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”������������|strong=”4931” x-morph=”OSHM:HNcfsa”
strong=”859|������� a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”0.0”
”strong=”5978|�/�������� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”�

23 ”strong=”c/5046|����������/�� x-morph=”OSHM:HC/Vhw3mp”
84+ ”strong=”1673|������������ x-morph=”OSHM:HNp”
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”strong=”l/1732|������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1”

”strong=”2009|������� x-morph=”OSHM:HTm” ”strong=”6430|�������������
x-morph=”OSHM:HNgmpa” x-cantillationLevel=”0.1.0” strong=”3898|�����������
a” x-morph=”OSHM:HVNrmpa” ”strong=”b/7084|���������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” ”strong=”c/1992|�������/�� x-morph=”OSHM:HC/Pp3mp”
x-cantillationLevel=”0.0” ”strong=”8154|�������� x-morph=”OSHM:HVqrmpa”
”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/1637”
x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”0”� 2 ”strong=”c/7592|����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|������� x-morph=”OSHM:HNp”
”strong=”b/3068|������/���� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.2.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.2”
”strong=”i/3212|�������/�� x-morph=”OSHM:HTi/Vqi1cs” ”strong=”c/5221|����������/��
x-morph=”OSHM:HC/Vhq1cs” x-cantillationLevel=”1.1” ”strong=”b/6430|��������������/���
x-morph=”OSHM:HRd/Ngmpa” x-cantillationLevel=”1.0” ”strong=”d/428|�������/��
x-morph=”OSHM:HTd/Pdxcp” x-cantillationLevel=”1” � ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
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”strong=”2009|������� x-morph=”OSHM:HTm” ”strong=”587|����������
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123 ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
strong=”c/5674|��������/�� a” x-morph=”OSHM:HC/Vqi3ms” x-cantillationLevel=”0.0.0”
”strong=”259|������ x-morph=”OSHM:HAcmsa” ”strong=”m/d/5288|����������/��/���
x-morph=”OSHM:HR/Td/Ncmpa” x-cantillationLevel=”0.0” ”strong=”c/3947|��/��������/��
x-morph=”OSHM:HC/Vqi3ms/Sp3fs” x-cantillationLevel=”0”� 23 ”strong=”c/3068|������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1.0” ”strong=”7725|��������
x-morph=”OSHM:HVhi3ms” ”strong=”l/376|������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”853|��� x-morph=”OSHM:HTo”��/���������|strong=”6666”
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��/���������|strong=”530” x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”5414|���/������ x-morph=”OSHM:HVqp3ms/Sp2ms” 124 We
read one or more accents in L differently than BHS. Often this notation indicates
a typographical error in BHS. ”strong=”3068|������� x-morph=”OSHM:HNp”
� ”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2.0”
”strong=”b/3027|����/��� x-morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”0.2”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”14|���������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.1” ”strong=”l/7971|��������/��
x-morph=”OSHM:HR/Vqc” ”strong=”3027|�/����� x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”b/4899|���������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
24 ”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm” x-cantillationLevel=”1.0.1”
strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr” ”strong=”1431|���������
x-morph=”OSHM:HVqp3fs” ”strong=”5315|���/������� x-morph=”OSHM:HNcbsc/Sp2ms”
x-cantillationLevel=”1.0.0” ”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.0”
strong=”b/5869|�/������/��� a” x-morph=”OSHM:HR/Ncbdc/Sp1cs” x-
cantillationLevel=”1” strong=”3651|����� c” x-morph=”OSHM:HTm” ”strong=”1431|����������
x-morph=”OSHM:HVqi3fs” ”strong=”5315|��/������� x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0.1.0” strong=”b/5869|�������/��� a” x-morph=”OSHM:HR/Ncbdc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/5337|���/��������/�� x-morph=”OSHM:HC/Vhi3ms/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”m/3605|����/�� x-morph=”OSHM:HR/Ncmsc”�������|strong=”6869
b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� � 25 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”7586|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”1732”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1” ”strong=”1288|���������

123+ ”strong=”2595|�����������/� x-morph=”OSHM:HNcfsa”
124c
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x-morph=”OSHM:HVqsmsa” strong=”859|������� a” x-morph=”OSHM:HPp2ms”
x-cantillationLevel=”1.2.0” strong=”1121|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”1732|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”1571|����� x-morph=”OSHM:HTa” x-cantillationLevel=”1.1.0”
strong=”6213|������� a” x-morph=”OSHM:HVqa” strong=”6213|���������
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x-morph=”OSHM:HC/Ta” x-cantillationLevel=”1.0” ”strong=”3201|������
x-morph=”OSHM:HVqa” ”strong=”3201|�������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”1” ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
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cantillationLevel=”0.1” ”strong=”c/7586|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”7725|����� x-morph=”OSHM:HVqp3ms”
”strong=”l/4725|��/�������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-
cantillationLevel=”0”� �27 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”

”strong=”1732|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��/������|strong=”3820

a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”6258|�������
x-morph=”OSHM:HD” x-cantillationLevel=”1.0.0” ”strong=”5595|���������
x-morph=”OSHM:HVNi1cs” ”strong=”3117|���� x-morph=”OSHM:HNcmsa”�������|strong=”259”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.0” ”strong=”b/3027|���/���
x-morph=”OSHM:HR/Ncbsc”���������|strong=”7586” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”369|����� x-morph=”OSHM:HTn”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” strong=”2896|����� a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.1.2.1” strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”4422|��������� x-morph=”OSHM:HVNc” ”strong=”4422|���������
x-morph=”OSHM:HVNi1cs” x-cantillationLevel=”0.1.2.0” � ”strong=”413|���
x-morph=”OSHM:HR”�������|strong=”776” x-morph=”OSHM:HNcbsc” ”strong=”6430|��������������
x-morph=”OSHM:HNgmpa” x-cantillationLevel=”0.1.2” ”strong=”c/2976|��������/��
x-morph=”OSHM:HC/VNp3ms” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cs”
”strong=”7586|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
”strong=”l/1245|���/��������/�� x-morph=”OSHM:HR/Vpc/Sp1cs” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0” ”strong=”b/3605|���/���
x-morph=”OSHM:HR/Ncmsc”���������|strong=”1366” x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/4422|�������������/�� x-morph=”OSHM:HC/VNq1cs” x-
cantillationLevel=”0.0” ”strong=”m/3027|��/�����/�� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”0”� 2 strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
strong=”c/5674|���������/�� a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”1.1” ”strong=”c/8337|�����/��
x-morph=”OSHM:HC/Acfsa”��������|strong=”3967” x-morph=”OSHM:HAcbpa”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
strong=”834|������� a” x-morph=”OSHM:HTr” strong=”5973|��/�����
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1” ”strong=”413|���
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x-morph=”OSHM:HR”���������|strong=”397” x-morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”���������|strong=”4582” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”
”strong=”1661|����� x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 3
”strong=”c/3427|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|�������
x-morph=”OSHM:HNp” strong=”5973|��� a” x-morph=”OSHM:HR”���������|strong=”397”
x-morph=”OSHM:HNp” ”strong=”b/1661|����/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0.0” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
”strong=”c/376|�/���������/�� x-morph=”OSHM:HC/Ncmpc/Sp3ms” x-
cantillationLevel=”1.0” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
strong=”c/1004|��/�����/�� b” x-morph=”OSHM:HC/Ncmsc/Sp3ms” x-
cantillationLevel=”1” ”strong=”1732|������� x-morph=”OSHM:HNp” x-
cantillationLevel=”0.2.0” ”strong=”c/8147|��������/�� x-morph=”OSHM:HC/Acfdc”
”strong=”802|�/������� x-morph=”OSHM:HNcfpc/Sp3ms” x-cantillationLevel=”0.2”
”strong=”293|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”d/3159|���������������/�� x-morph=”OSHM:HTd/Ngfsa”
x-cantillationLevel=”0.1” ”strong=”c/26|�����������/�� x-morph=”OSHM:HC/Np”
”strong=”802|������� x-morph=”OSHM:HNcfsc”�������|strong=”5037”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”d/3762|������������/���
x-morph=”OSHM:HTd/Ngfsa” x-cantillationLevel=”0”� 4 ”strong=”c/5046|��������/��
x-morph=”OSHM:HC/VHw3ms” ”strong=”l/7586|��������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”1272”
x-morph=”OSHM:HVqp3ms” ”strong=”1732|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”1661|����� x-morph=”OSHM:HNp” x-
cantillationLevel=”1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”�����|strong=”3254”
x-morph=”OSHM:HVqrmsa” x-wType=”x-ketiv” 125 ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”l/1245|��/�������/��
x-morph=”OSHM:HR/Vpc/Sp3ms” x-cantillationLevel=”0”� � 5 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.3.0” ”strong=”413|��� x-morph=”OSHM:HR”���������|strong=”397”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.3” strong=”518|��� a” x-
morph=”OSHM:HC”�����|strong=”4994” x-morph=”OSHM:HTe” ”strong=”4672|���������
x-morph=”OSHM:HVqp1cs” ”strong=”2580|���� x-morph=”OSHM:HNcmsa”
strong=”b/5869|���/�������/��� a” x-morph=”OSHM:HR/Ncbdc/Sp2ms”
x-cantillationLevel=”1.0.2” ”strong=”5414|�������� x-morph=”OSHM:HVqj3mp”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”4725|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0.1” ”strong=”b/259|������/��� x-morph=”OSHM:HR/Acfsc”
x-cantillationLevel=”1.0.0” strong=”5892|������ b” x-morph=”OSHM:HNcfpc”
strong=”d/7704|��������/�� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”c/3427|���������/�� x-morph=”OSHM:HC/Vqh1cs” ”strong=”8033|������
x-morph=”OSHM:HD” x-cantillationLevel=”1” ”strong=”c/l/4100|����/���/��
x-morph=”OSHM:HC/R/Ti” ”strong=”3427|������� x-morph=”OSHM:HVqi3ms”
”strong=”5650|���/������� x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0.0.0”
strong=”b/5892|�����/��� b” x-morph=”OSHM:HR/Ncfsc” ”strong=”d/4467|�����������/��
125+ ”strong=”3254|���������� x-morph=”OSHM:HVqp3ms”
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x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0” strong=”5973|��/������
a” x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”� 6 ”strong=”c/5414|�������/��
x-morph=”OSHM:HC/Vqw3ms”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
”strong=”397|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������|strong=”6860” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D”
x-cantillationLevel=”0.1.0.0” ”strong=”1961|�������� x-morph=”OSHM:HVqp3fs”
”strong=”6860|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”l/4428|��������/�� x-morph=”OSHM:HR/Ncmpc” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”5704|���� x-
morph=”OSHM:HR” x-cantillationLevel=”0.0” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”0”� � 7 ”strong=”c/1961|������/��� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” ”strong=”4557|��������� x-morph=”OSHM:HNcmsc”
”strong=”d/3117|��������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1”
strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”3427”
x-morph=”OSHM:HVqp3ms” ”strong=”1732|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”b/7704|�������/��� b” x-morph=”OSHM:HR/Ncmsc”
”strong=”6430|������������� x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1”
”strong=”3117|������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0”
”strong=”c/702|�����������/�� x-morph=”OSHM:HC/Acmsa” ”strong=”2320|����������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”� 8 ”strong=”c/5927|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”c/376|�/���������/��� x-morph=”OSHM:HC/Ncmpc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/6584|������������/��� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.0.0” ”strong=”413|��� x-morph=”OSHM:HR”�����������/���|strong=”d/1651”
x-morph=”OSHM:HTd/Ngmsa” ”strong=”c/d/1511|����/�/� x-morph=”OSHM:HC/Td/Ngmsa”
x-wType=”x-ketiv” 126 ”strong=”c/d/6003|����������/��/�� x-morph=”OSHM:HC/Td/Ngmsa”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”2007|�������
x-morph=”OSHM:HPp3fp” x-cantillationLevel=”0.1.0.0” ”strong=”3427|����������
x-morph=”OSHM:HVqrfpa” ”strong=”d/776|�������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”m/5769|�������/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1”
”strong=”935|���/������ x-morph=”OSHM:HVqc/Sp2ms” ”strong=”7793|�/�������
x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”0.0” ”strong=”c/5704|���/��
x-morph=”OSHM:HC/R”�������|strong=”776” x-morph=”OSHM:HNcbsc”
”strong=”4714|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
9 ”strong=”c/5221|�������/�� x-morph=”OSHM:HC/Vhp3ms” ”strong=”1732|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”2421|��������� x-morph=”OSHM:HVpi3ms”

126+ ”strong=”c/d/1511|���������/��/������/�/� x-morph=”OSHM:HC/Td/Ngmsa”
x-cantillationLevel=”1.0”
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x-cantillationLevel=”1.0” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”c/802|��������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1”
”strong=”c/3947|������/�� x-morph=”OSHM:HC/Vqp3ms” ”strong=”6629|�����
x-morph=”OSHM:HNcbsa” ”strong=”c/1241|������/�� x-morph=”OSHM:HC/Ncbsa”
x-cantillationLevel=”0.1.0.0” ”strong=”c/2543|���������/�� x-morph=”OSHM:HC/Ncbpa”
”strong=”c/1581|����������/�� x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”0.1.0”
strong=”c/899|���������/�� b” x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”0.1”
”strong=”c/7725|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0”
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x-morph=”OSHM:HR”���������|strong=”397” x-morph=”OSHM:HNp” x-
cantillationLevel=”0”� 10 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”397|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”408|��� x-morph=”OSHM:HTn”��������������|strong=”6584”
x-morph=”OSHM:HVqp2mp” x-cantillationLevel=”1.0” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.1” strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”5045”
x-morph=”OSHM:HNcmsc” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�������|strong=”5045”
x-morph=”OSHM:HNcmsc” ”strong=”d/3397|���������������/�� x-
morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”0.1” ”strong=”c/413|���/��
x-morph=”OSHM:HC/R”�������|strong=”5045” x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.0” ”strong=”d/7017|��������/�� x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”0”� 11 ”strong=”c/376|������/�� x-morph=”OSHM:HC/Ncmsa”
”strong=”c/802|��������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.1.1.0”
”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”2421”
x-morph=”OSHM:HVpi3ms” ”strong=”1732|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” ”strong=”l/935|�������/�� x-morph=”OSHM:HR/Vhc”
”strong=”1661|���� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”l/559|�����/��
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x-morph=”OSHM:HC/Vqw3ms” ”strong=”397|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2.3.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”8269”
x-morph=”OSHM:HNcmpc” ”strong=”6430|������������� x-morph=”OSHM:HNgmpa”
x-cantillationLevel=”0.2.3” ”strong=”i/3808|�����/�� x-morph=”OSHM:HTi/Tn”�����|strong=”2088”
x-morph=”OSHM:HPdxms” ”strong=”1732|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2.2.1” ”strong=”5650|������ x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.2.2.0” � ”strong=”7586|�������� x-morph=”OSHM:HNp”
”strong=”4428|������� x-morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.2” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”1961|������ x-morph=”OSHM:HVqp3ms”
”strong=”854|��/����� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.2.1”
”strong=”2088|���� x-morph=”OSHM:HPdxms” ”strong=”3117|�������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.2.0” strong=”176|��� a”
x-morph=”OSHM:HC”�����|strong=”2088” x-morph=”OSHM:HPdxms” ”strong=”8141|��������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.2” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”����������|strong=”4672” x-morph=”OSHM:HVqp1cs”
”strong=”b|���/� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.0”
”strong=”3972|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1”
”strong=”m/3117|������/�� x-morph=”OSHM:HR/Ncmsc” ”strong=”5307|��/������
x-morph=”OSHM:HVqc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”5704|���
x-morph=”OSHM:HR”������/���|strong=”d/3117” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”�
� 4 ”strong=”c/7107|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.2.3.0”
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”strong=”8269|������� x-morph=”OSHM:HNcmpc” ”strong=”6430|�������������
x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1.2.3” ”strong=”c/559|����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”l|���/� x-morph=”OSHM:HR/Sp3ms”
”strong=”8269|������� x-morph=”OSHM:HNcmpc” ”strong=”6430|�������������
x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1.2.2.0” ”strong=”7725|�������
x-morph=”OSHM:HVhv2ms” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/376”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.2” ”strong=”c/7725|�������/��
x-morph=”OSHM:HC/Vqj3ms” x-cantillationLevel=”1.2.1” ”strong=”413|���
x-morph=”OSHM:HR”���/�������|strong=”4725” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.2.0” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”6485|��/����������� a” x-morph=”OSHM:HVhp2ms/Sp3ms”
”strong=”8033|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.2” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”�������|strong=”3381” x-morph=”OSHM:HVqi3ms”
strong=”5973|����/������ a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1.1.0”
”strong=”b/4421|�����������/��� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.1”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”���������|strong=”1961”
x-morph=”OSHM:HVqi3ms”���/�����|strong=”l” x-morph=”OSHM:HR/Sp1cp”
”strong=”l/7854|�������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0”
”strong=”b/4421|�����������/��� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1”
”strong=”c/b/4100|�����/��/�� x-morph=”OSHM:HC/R/Ti” x-cantillationLevel=”0.2.1”
”strong=”7521|����������� x-morph=”OSHM:HVti3ms” ”strong=”2088|����
x-morph=”OSHM:HPdxms” x-cantillationLevel=”0.2.0” ”strong=”413|���
x-morph=”OSHM:HR”�/���������|strong=”113” x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”0.2” ”strong=”i/3808|�����/�� x-morph=”OSHM:HTi/Tn”
x-cantillationLevel=”0.1” strong=”b/7218|��������/��� a” x-morph=”OSHM:HR/Ncmpc”
x-cantillationLevel=”0.0” ”strong=”d/376|����������/�� x-morph=”OSHM:HTd/Ncmpa”
”strong=”d/1992|����/�� x-morph=”OSHM:HTd/Pp3mp” x-cantillationLevel=”0”�
5 ”strong=”i/3808|����/�� x-morph=”OSHM:HTi/Tn”�����|strong=”2088”
x-morph=”OSHM:HPdxms” ”strong=”1732|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”6030|������� c” x-morph=”OSHM:HVqi3mp”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0.0” ”strong=”b/4246|����������/���
x-morph=”OSHM:HRd/Ncfpa” x-cantillationLevel=”1.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1” ”strong=”5221|�������
x-morph=”OSHM:HVhp3ms” ”strong=”7586|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”b/505|�/��������/���� x-morph=”OSHM:HR/Acbpc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”c/1732|������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”b/7233|�/����/� x-morph=”OSHM:HR/Ncfpc/Sp3ms”
x-wType=”x-ketiv” 129 �� 6 ”strong=”c/7121|���������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”397|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.2.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”1732” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.2” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.2.1.1”

129+”strong=”b/7233|�/����������/����/����/� x-morph=”OSHM:HR/Ncfpc/Sp3ms”
x-cantillationLevel=”0”
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strong=”2416|��� a” x-morph=”OSHM:HAamsa”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0” strong=”3588|����
a” x-morph=”OSHM:HC”��������|strong=”3477” x-morph=”OSHM:HAamsa”
strong=”859|������� a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”1.2.1”
strong=”c/2896|�����/�� a” x-morph=”OSHM:HC/Aamsa” strong=”b/5869|�/�����/����
a” x-morph=”OSHM:HR/Ncbdc/Sp1cs” x-cantillationLevel=”1.2.0.0” ”strong=”3318|���/�����
x-morph=”OSHM:HVqc/Sp2ms” 130 We read one or more accents in L dif-
ferently than BHS. Often this notation indicates a typographical error in BHS.
”strong=”c/935|���/����/�� x-morph=”OSHM:HC/Vqc/Sp2ms” ”strong=”854|��/�����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.2.0” ”strong=”b/4264|���������/����
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.2” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.1.0.0” ”strong=”3808|����
x-morph=”OSHM:HTn”�����������|strong=”4672” x-morph=”OSHM:HVqp1cs”
”strong=”b|���/�� x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.1.0”
strong=”7451|������ c” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1”
”strong=”m/3117|������/�� x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.0.0”
”strong=”935|���/����� x-morph=”OSHM:HVqc/Sp2ms” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0” ”strong=”5704|���
x-morph=”OSHM:HR”������/���|strong=”d/3117” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1”
strong=”c/b/5869|�������/��/�� a” x-morph=”OSHM:HC/R/Ncbdc” strong=”d/5633|����������/��
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn”������|strong=”2896 a” x-morph=”OSHM:HAamsa”
strong=”859|������� a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”0”�
7 ”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D” ”strong=”7725|������
x-morph=”OSHM:HVqv2ms” x-cantillationLevel=”1.0” ”strong=”c/3212|�����/��
x-morph=”OSHM:HC/Vqv2ms” ”strong=”b/7965|��������/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”����������|strong=”6213
a” x-morph=”OSHM:HVqi2ms” strong=”7451|���� a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.1” strong=”b/5869|�������/��� a” x-morph=”OSHM:HR/Ncbdc”
x-cantillationLevel=”0.0” strong=”5633|�������� a” x-morph=”OSHM:HNcmpc”
”strong=”6430|������������� x-morph=”OSHM:HNgmpa” x-cantillationLevel=”0”�
� 8 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0” ”strong=”413|��� x-
morph=”OSHM:HR”���������|strong=”397” x-morph=”OSHM:HNp” x-
cantillationLevel=”1.2.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”4100|����
x-morph=”OSHM:HTi” strong=”6213|����������� a” x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.2.0” ”strong=”c/4100|���/�� x-morph=”OSHM:HC/Ti”����������|strong=”4672”
x-morph=”OSHM:HVqp2ms” ”strong=”b/5650|���/�������/�� x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1.2” ”strong=”m/3117|������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”1961|��������� x-morph=”OSHM:HVqp1cs” ”strong=”l/6440|��/������/��
x-morph=”OSHM:HR/Ncbpc/Sp2ms” x-cantillationLevel=”1.1” ”strong=”5704|����
x-morph=”OSHM:HR” x-cantillationLevel=”1.0” ”strong=”d/3117|������/��
130c



CONTENTS 235

x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”935|������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0.1.0” strong=”c/3898|�������������/�� a” x-morph=”OSHM:HC/VNq1cs”
x-cantillationLevel=”0.1” ”strong=”b/341|��������/��� x-morph=”OSHM:HR/Vqrmpc”
x-cantillationLevel=”0.0” ”strong=”113|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
9 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”397|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”1732”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”3045|�����������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” strong=”2896|����� a” x-morph=”OSHM:HAamsa”
strong=”859|������� a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”1.0.0”
strong=”b/5869|�/������/��� a” x-morph=”OSHM:HR/Ncbdc/Sp1cs” x-
cantillationLevel=”1.0” ”strong=”k/4397|���������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”430|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
”strong=”389|����� x-morph=”OSHM:HTa” ”strong=”8269|������� x-
morph=”OSHM:HNcmpc” ”strong=”6430|������������� x-morph=”OSHM:HNgmpa”
x-cantillationLevel=”0.1.0” ”strong=”559|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.1” ”strong=”3808|���� x-morph=”OSHM:HTn”���������|strong=”5927”
x-morph=”OSHM:HVqi3ms” strong=”5973|���/������ a” x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”b/4421|�����������/��� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0”� 10 ”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D”
x-cantillationLevel=”1.1.0” ”strong=”7925|���������� x-morph=”OSHM:HVhv2ms”
”strong=”b/1242|�������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”c/5650|��������/�� x-morph=”OSHM:HC/Ncmpc” ”strong=”113|��/��������
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1.0” strong=”834|������
a” x-morph=”OSHM:HTr”��������|strong=”935” x-morph=”OSHM:HVqp3cp”
”strong=”854|��/������ x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1”
”strong=”c/7925|���������������/�� x-morph=”OSHM:HC/Vhq2mp”
”strong=”b/1242|�������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”c/215|�����/�� x-morph=”OSHM:HC/Vqq3ms” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.0” ”strong=”c/3212|������/��
x-morph=”OSHM:HC/Vqv2mp” x-cantillationLevel=”0”� 11 ”strong=”c/7925|�����������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”1732|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.0” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
”strong=”c/376|��/��������/��� x-morph=”OSHM:HC/Ncmpc/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”l/3212|������/�� x-morph=”OSHM:HR/Vqc”
”strong=”b/1242|�������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”l/7725|������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0”
”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”776” x-morph=”OSHM:HNcbsc”
”strong=”6430|�������������� x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1”
”strong=”c/6430|�������������/�� x-morph=”OSHM:HC/Ngmpa” x-
cantillationLevel=”0.0” ”strong=”5927|������ x-morph=”OSHM:HVqp3cp”
”strong=”3157|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
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�30 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0.0.0” ”strong=”b/935|����/��� x-morph=”OSHM:HR/Vqc”
”strong=”1732|������ x-morph=”OSHM:HNp” ”strong=”c/376|�/���������/��

x-morph=”OSHM:HC/Ncmpc/Sp3ms” x-cantillationLevel=”1.0.0” ”strong=”6860|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/7992|������������/�� x-morph=”OSHM:HTd/Aomsa”
x-cantillationLevel=”1” ”strong=”c/6003|����������/�� x-morph=”OSHM:HC/Ngmsa”
”strong=”6584|���������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.2.1”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”5045” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.2.0” ”strong=”c/413|���/�� x-morph=”OSHM:HC/R”����������|strong=”6860”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2” ”strong=”c/5221|��������/��
x-morph=”OSHM:HC/Vhw3mp” x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������|strong=”6860” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/8313|������������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3fs” x-cantillationLevel=”0.0”
”strong=”b/784|�����/��� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0”�
2 ”strong=”c/7617|�����������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”853|���
x-morph=”OSHM:HTo”���������/���|strong=”d/802” x-morph=”OSHM:HTd/Ncfpa”
strong=”834|������ a” x-morph=”OSHM:HTr”���/����|strong=”b” x-
morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.1.0” strong=”m/6996|�������/��
b” x-morph=”OSHM:HR/Aamsa” ”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”���������|strong=”1419
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”4191|��������� x-morph=”OSHM:HVhp3cp”
x-cantillationLevel=”1.0” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”c/5090|������������/�� a” x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.1” ”strong=”c/3212|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” ”strong=”l/1870|�/��������/�� x-morph=”OSHM:HR/Ncbsc/Sp3mp”
x-cantillationLevel=”0”� 3 ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������ x-morph=”OSHM:HNp” ”strong=”c/376|��/��������/���
x-morph=”OSHM:HC/Ncmpc/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�����/���|strong=”d/5892 b” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.1” ”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm”
”strong=”8313|���������� x-morph=”OSHM:HVqsfsa” x-cantillationLevel=”1.0”
”strong=”b/784|�����/��� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1”
”strong=”c/802|����/������/�� x-morph=”OSHM:HC/Ncfpc/Sp3mp” x-
cantillationLevel=”0.0.0” strong=”c/1121|����/�����/�� a” x-morph=”OSHM:HC/Ncmpc/Sp3mp”
”strong=”c/1323|����/�������/�� x-morph=”OSHM:HC/Ncfpc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”7617|���������� x-morph=”OSHM:HVNp3cp”
x-cantillationLevel=”0”� 4 ”strong=”c/5375|���������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0.0”
strong=”c/d/5971|����/��/�� a” x-morph=”OSHM:HC/Td/Ncmsa” strong=”834|������
a” x-morph=”OSHM:HTr”��/������|strong=”854” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”6963
a” x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.0” ”strong=”c/1058|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1” ”strong=”5704|����
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x-morph=”OSHM:HR” strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”369|����
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